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December 13, 2018

Sally has an annual salary of $42 330 and she is paid
biweekly. She has the following deductions: union dues
$11.50, pension, $295.00, medical $23.49 and dental
$35.34. What is her net pay if she has a claim code of 4.

Gross Pay $/(2%.0%
-Pension 295. 00
-Union Dues 1. So

Taxable Income| $132(.58

C.P.P. 3.4
E.l 27.03
Fed tax 7€.50
Prov tax (,2.50
Medical 23.44
Dental 36,44
Net Pay 102079

tables
o

*y1130/20
- $(,28.0%


https://www.canada.ca/en/revenue-agency/services/forms-publications/payroll/t4032-payroll-deductions-tables/t4032nb.html
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Calculating Net Pay

Gross Income

¥3375.4¢ |

Union Dues - 3%.00
Pension ~394.92
Taxable Income | $ 9 g 43.S4
C.P.P. - [¢L0-42
E.l = 5¢.03
Federal Tax - H4049.40
Provincial Tax -302. 95
Other deductions - 14.70
Net Pay F1§44. 04
Gross Income LA %$6.€%
Union Dues = ‘i.ﬁs
Pension - 12S. 07
Taxable Income | ¢ |S51.%¢
C.P.P.
E.l
Federal Tax
Provincial Tax
Other deductions $ 1S5§.62

Net Pay

December 13, 2018

Mrs. Sears has an annual salary
of $87 762. She is paid biweekly
using claim code 1 and her
deductions are: pension $394.92,
union dues $38.00, car insurance
$80.47 and medical $34.23. What
is her net pay?

$q 702/26= $3315.4¢

§7762-3506= §4 262

§4 2 (2« o.oﬁs:ﬁéo.‘lz}
20

1376.46 x 0.01L= $5¢,03

Jane, who is a receptionist, has
an annual salary of $40 485. She
is paid semi-monthly using claim
code 4. Her deductions are:
pension $125.07, union dues
$9.95, RESP contribution $100
and medical & dental $58.62.
What is her net pay?
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